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Note : Attempt all questions.

st : (31) U HAGG 1 TS T T W W H dF ITEUE % |
Qe () Fgfasheda g, @ve (9) Raa Tl &t gfd w
GUE (9) G& SISl oM § | U T9H & foe 1 s fauifa
i

Instruction : (A) Question No. 1 is an objective type question. There are
three subsections in this question. In Section (A) Multiple
choice questions, in Section (B) Fill in the blanks and in
Section (C) Match the following are given. Each question

carries 1 mark.

Uga-1  (@ue-37) Hel fasheq g fafan : [1x5=5]
(Section-A) Choose and write the correct option :
(i) Ol o1 S T STUR @ -
(3 T (7) g+
(&) e (g) <ifa
Origin of Varnas is based on :
(a) colour (b) religion
(c) language (d) caste
P.T.O.
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(ii) NIH TeE ! S fFEd g © 2

(&) =4 (9 F
(@) 74 () i
Which word is the origin of Ashram?

(a) Karma (b) Kiri
(c) Labour (d) Varna

(ifi) Fh TS St WA FT R ?

(87) qUET (&) YA
(F) SRS (3) forrtentom
What is structure of farmer group?

(a) Traditional (b) Untraditional
(c) Unemployment (d) Specialization

(jv) HEd TEN W Gefed §

)

(&) 9m= CIREEE]

(%) g Sifd (3) STggf=d S
It is related with Mandal Commission :

(a) General (b) Backward

(¢) Scheduled Caste (d) Scheduled Tribe
TS ehi LTI fohg i 2

(37) T T A [ (¥) <AMT Tl
(7) THFO (3) fodehr<

Who established the Bramha Sama;j ?
(a) Raja Rammohan Roy (b) Dayanand Saraswati
(c) Ramakrishna (d) Vivekananda
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ga-1  (@ue-a) R TuEl &6 gid S [1x10=10]
(Section-B) Fill in the blanks :
(i) ¥ ¥R & 3A qgEgE T
The origin of Karma word is from Dhatu.
(i) e S T Y@ FaHH i
The main business of Gond castes is
(iii) % G AISRT Y R8T Bl © |
There is safety of kinship by .
(jv) SR@UE Jfo A=l h1 Agd F foman e
Leadership of Jharkhand Mukti Morcha was done by :
(v) Togcraret e o =R fadiedt € |
The Naxalite are in total oposition of system.
(vi) YIRS ATEY § e Hehford 1 THE ST ¢ |
is main source of data collection in social conflict.
(vii) A% Tgfa R M B
Scientific method is based on
(viii) Fieei ugfa © fafa g
Sampling method is a method.
(ix) IETEhR Th pIERIRS
The interview is a process.
(x) WS WU e Hehferd i i Th fafa &1
The data collection is a method of Questionnaire.
M-53 P.T.O.
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Y9a-1  (@US-9 ) Wl SISt dARy

(i) wifeaeht - 9NR

(if) STacHA - $dAReE

(iif) 3Tfefe HaEen - Qi &1 Hehod

(iv) HeR 9y e IQEIE

(v) 9o S[EH JiRer - 3T{EYE & g fafy
(Section-C) Match the following :

(/) Statistics —  Market

(if) Observation —  Kabirdas

(iii) Economical System —  Data Collection

(iv) Kabir Panth —  Naxalite

(v) Salwa Judum Movement —  Method of Research

T : (F) U HE® 2 ¥ 6 T AT RETT T T | TF T W
2 3 SYEfed &1 (ST ! Afuehan see-diAT 30 12 ®)

Instruction : (B) Question Nos. 2 to 6 are very short answer type questions.
Each question carries 2 marks. (Maximum word limit of

answer is 30 words)

U9H-2 U1 el o < HEcd Idisy |

Give two importances of Varna System.

9-3 FAETE § JaTa hi TS FaET |

Give the problem of migration in Chhattisgarh.

WeT-4  wiefhes e 9 e sy € 2
What is the meaning of primary kinship ?

WA-5  STIgEl % hiE o S SdE |

Give any two demerits of schedule.

U9A-6  hsd 9gd o 1w g ?

What do you mean by central nature?

[1x5=5]

2]

2]

2]

2]

2]
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: (F) T HEER 7 ¥ 12 9 AfTTEEad T €1 TS T W
3 3 aEifed © | (ST &1 SAferehdy Tse-HHT 50 912 ©)

Instruction : (C) Question Nos. 7 to 12 are very short answer type questions.

U -7

Y-8

YI1-9

Y91-10

TIT-11

To-12

ot

Each question carries 3 marks. (Maximum word limit of

answer is 50 words)

Jardt 7Sg ot fearfd U o U™ SaET

Write the attempt to improve situation of migrated labours.

TRER st hIE g IR ddEt |

Give any two definitions of family.

Fg-Tcit foamg o ot fafee |

Write the causes of polygamy.

EEACIR & R ENIE

Write the causes of corruption.

3 TSt & enfies fagia @ € 2
What are the religious principles of Arya Samaj?

ST % IS I YRR Sd1ST |

Give any three kinds of schedule.

: (T) T HAG 13 F 17 T TEA0T T B | TAE T W
4 3 3Eifed €1 (ST T ferehand vee-HHAT 75 IS §)

Instruction : (D) Question Nos. 13 to 17 are short answer type questions.

Each question carries 4 marks. (Maximum word limit of

answer 1s 75 words)

[3]

[3]

[3]

[3]

3]

[3]

U913 ST ST i fasIoad sy | [4]
Give the characteristics of modern residence.
37gqr
OR
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WT-14

Y91-15

YI1-16

991-17

[6]
TifRenfies fEon & yer fafeu |

Write the kinds of family violence.

T faeE o fagia o= € 2

What are the principles of Ramakrishna Mission?

sTeqar
OR

el Gfori skt faRodmd smET |

Give the characteristics of Kabir Panthis.

ST TGfd Bt TE fasivad saET |

Write main characteristics of scientific method.

srar
OR

ek Tgfa o1 21k we uftam fafeu |

Write the meaning and definition of scientific method.

HIeTTeh R e 3TeRT T 3T R 9Hed § 2

What do you mean by interview manual ?
3rerar
OR

ey fae fafy & o9 o wwer € 2

What do you mean by multistage sampling method ?

ST AT o A9 o1 faAfEy |

Write main properties of ideal mean.

sTar
OR

RO &l Hed oaey |

Write the importance of tabulation.

[4]

[4]

[4]

[4]
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: (%) U HHF 18 F 21 IF HSTIT T B | TIF U W
5 3feh AEifed © 1 (ST i AIhHdH IAse-HHT 750 U< B)

Instruction : (E) Question Nos. 18 to 21 are long answer type questions.

Y91-18

WIT-19

YI1-20

YI1-21

Each question carries 5 marks. (Maximum word limit of
answer is /50 words)

ORA H TR T8 A0 99 § @ fafen |
Write the differences between urban and rural society in India.

argrar
OR
YA § Afgensdi o) gaend = g ?

What are the problems of women in India ?

U & TG o1 GHSNTET "ed dqist |

Write the sociological importance of motto of Karma.

s7erar
OR

0 FET T HEed ISy |
Give the importance of Varna System.
Shfa 3R SHenfa & IHHT Sy |

Give the similarity of caste and tribe.

3ar
OR
STt # Sia |reft % FAE % qlieh 1 9 it
Describe the ideas of selection of life partner in tribes.

=Rl o STHR T HIRTEhR o YehR od3y |

Write the types of interview on the basis of formality.

sfqar
OR

9 el JoTelt & < Sy |
Write the benefits of sampling method.

[5]

[5]

[5]

[5]
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fdor : (W) U9 HH% 22 U9 23 ESTUT W E 1 TAH U W
6 3% aTefed 81 (ST &I AfTewhay Iss-HHT 250 I8 )

Instruction : (F) Question Nos. 22 and 23 are long answer type questions.

Each question carries 6 marks. (Maximum word limit of

answer is 250 words)

Y9-22 I Faeen & T fafa | [6]

Write the properties of caste system.

sfar
OR

IRER % T FE 1§ 2

What are the main functions of family ?

U9T-23  AScieh i foRIvand <Iaisy | [6]

Write the characteristics of observation.

sTqar
OR

3TecATeh Jgfd bl Hrad =1 § 2

What are the limitations of observation method?

oooooooooo
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